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Section:

EEEB273 - Quiz 3
SEMESTER 2, ACADEMIC YEAR 2014/2015 Lecturer: Dr. Jamaludin Bin Omar

Date: 4 December 2014 Time: 15 minutes

Refer to Figure 1. V' =45 V and V" = -5 V. Assume Vzg(on) = 0.7 V, V4 = oo, and # = oo for all

transistors in the circuit.

For Rc =2 kQ and vey = vgr = vga = 0.5 V, determine the value of Iy such that Veg; = 2.5 V.

Write your answers clearly using PEN as precise as possible with proper Units for the parameters.
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When v =vp, =0.5V and f = oo,
ia =iQ=in=in 1]
IQ Ziptip =2.7 mA [3]
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Question:
Refer to Figure 1. " =+5.5 Vand V" =-5.5 V. Assume Vgg(on) = 0.7 V, V4 = o, and f = oo for

all transistors in the circuit.
For Rc = 2.2 kQ and vey = vgr = vga = 0.5 V, determine the value of Iy such that Vg, = 2.3 V.
Write your answers clearly using PEN as precise as possible (in 4 decimal points) with proper
Units for the parameters.
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vea = vga- Vaea(0n) + Verr 2] S co
=05-0.7+2.3 =21V [1]
v = V - icz RC
ic2 =(V'-vay Re [2]
=(5.5-2.1)/22k =1.545 mA [1]
When vg; =v5;=0.5V and § = o,
ic2 =ica=Iip=Iip (1]
IQ =iptip = 3.09 mA 3]
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Question:
Refer to Figure 1. " =+5.5 Vand V" =-5.5 V. Assume Vgg(on) = 0.7 V, V4 = o, and f = oo for

all transistors in the circuit.
For Rc = 2.4 kQ and vey = vgr = vga = 0.3 V, determine the value of Iy such that Vg = 2.3 V.
Write your answers clearly using PEN as precise as possible (in 4 decimal points) with proper
Units for the parameters.
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Vel = vg1 - Veer(on) + Vg [2] . co
—03-07+23 =19V (1]
Vel =V -iaRc
ict =(V" -vary Re 2]
~(55-1.9)/24k =15mA [1]
When vg; =v5,=0.3 Vand = o,
ict =io=ipn=Iimn (1]
IQ = iEl + iEz = 3.0 mA [3]
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Refer to Figure 1. V' =45 V and V" = -5 V. Assume Vzg(on) = 0.7 V, V4 = oo, and # = oo for all

transistors in the circuit.
For R¢ = 2.2 kQ and vey = vgr = vga = 0.3 V, determine the value of Iy such that Vg, = 2.6 V.
Write your answers clearly using PEN as precise as possible (in 4 decimal points) with proper
Units for the parameters.
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=03-0.7+2.6 =22V [1] o
v = V - icz RC
ic2 =(V" -vay Re [2]
=(5-2.2)/2.2k =1.273 mA 1]
When vg; =v5;=0.3 Vand = o,
ic2 =i =ip=Iimp (1]
IQ =iptip =2.545 mA [3]
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